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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

07:30 250 120.0 FH| 7iHA@07:30 KRENFEF (KRATRELES)
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23t+]2750.0 (117%) 1320.0 32 F%KEC: 2080.0, PH: 6.0
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P3-11

BfiE) | EBIETK (D) | ElE (EH/HK) | XK EFE
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P3-11

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:15 174 70.0 (&=| {Rige07:15 Bz CGRAEBSE)
08:10 174 70.0 |2 =| {Ri&e08:10 Bzl (REAEHE)
09:00 174 70.0 FA| {Ri%@09:00 Hzi (RAERHES)
09:50 174 70.0 FA| 1BR18@09:50 Bzh (KAIEEE)
10:40 174 70.0 FA| 1Ri%@10:40 Bzl (RPBHEEEE)
11:30 174 70.0 FA| {Ri%e11:30 Bzl (RAHEHSR)
12:20 174 70.0 PR 1Ri%e12:20 Bz (KRAEESE)
13:10 174 70.0 FH| 1Ri%@13:10 B3h (RAERSE)
14:00 174 70.0 FA| {Ri&e@14:00 Bzl (RBHEEE)
14:50 174 70.0 FE| 1BRi8@14:50 Bzh (KAL)
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ERIASEBREERL78. 0 ml.

REREMREC (2750.0) 5i%FEEC (2000.0) REK K, BFRE
BE[EIRECE (2750. 0 vs 4155.0) RS
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